Ph¥oFI5

REERR

A10158 | VPR & 11

M
e Ac
A VPERDRTXB/N K, =
O [A10157VPRZ L [IC[A10312B A2 > | %ty b LSS, &
OVP30. VP40, VP50I332iEHH 4 T, 1=
BRERO > THE L,
@mEI—F A10158 VPR 1+ B4 (mm)
#4142 N Bt AL b BAIL M AR
J-f | PR | BEESNE | t | C g ey | D | H 2 | @
0014 13 18.0 1.0 25 | M6x25 | 26 | 63| W% | 300
0029 16 22.0 1.0 25 | M6x25 | 26 | 65| W% | 300
= 0033 20 26.0 1.0 | 25 | M6x25 | 26 | 67| W% | 300
: 0048 25 32.0 1.0 25 | M6x25 | 26 | 70| W% | 300
c 0245 30 38.0 1.0 25 | M6x25 | 26 | 73| W% | 250
il 0250 40 48.0 1.0 25 | M6x25 | 26 | 78| W% | 200
S 0264 50 60.0 1.0 25 | M6X25 | 26 | 84| W% | 140
L () 0086 65 76.0 1.0 32 | M8x25 | 26 | 98| W% | 120
B 0103 75 89.0 1.0 | 32 | M8x25 | 26 | 105| W% | 90
’:h\ 0118 100 114.0 1.0 | 32 M8x25 | 26 | 117 | W% 60
0122 | 125 140.0 20| 32 | M8x25 | 36 [138| W% | 25
‘ 0137 150 165.0 20| 32| M8x25 | 36 | 150 | W% | 20
0141 200 216.0 2.0 | 32 M8x25 | 36 | 176 | W% 22
AJ 0156 | 250 267.0 20| 32 | M8x25 | 36 |201| W% | 17

A10205 | A7 VPR &1t

VPERDRITR A/ K,

@ [A10204X 7 VPR A ELJIC[A10316 X 7> mAL 5y ML
fC;glill:llﬂo

@VP30. VP40, VP50I332M@HH V) £9,

@SUS 304&,

mEI—KN A10205 XFVPR4E{# B (mm)
Y4 o | ema BRIV b BARIVD | A$K
P |1z | mawse | 1 | o BEELN oy REVE AR
0016 13 180 | 10| 25 | M6x25 | 26 | 63| W% | 300
0035 16 220 | 10| 25| M6x25 | 26 | 65| W% | 300
0040 20 %60 | 10|25 | M6x25 | 26 | 67| W% | 300
0054 25 320 | 10|25 | M6x25 | 26 | 70| W% | 300
0209 30 380 | 10|25 | M6x25 | 26 | 73| W% | 250
. 0213 40 480 |10 25| M6x25 | 26 | 78| W% | 200
0228 50 600 | 10| 25| M6x25 | 26 | 84| W% | 140
il 0092 65 760 | 10|32 | M8x25 | 26 | 91 | W% | 120
= 0105 75 800 | 10|32 | M8x25 | 26 | 97| W% | 90
- 0110 | 100 1140 | 1.0 32 | M8x25 | 26 | 110| W% | 60
oy 0124 | 125 1400 | 20| 32 | M8x25 | 36 | 139| W% | 25
& DJ . 0139 | 150 1650 | 20 | 32 | M8x25 | 36 | 151 | W% | 20
0143 | 200 2160 | 20| 32 | M8x25 | 36 |177| W% | 22
l 0158 | 250 2670 | 20| 32 | M8x25 | 36 | 202| W% | 17

I

25%




